SHAEE ILORUI2Y)—J B xtEER
X4 #h[X =5 it X ik #h X
4 31 zF gN—7 I #pa
Bl e B HA 2022 F 6 B ~ 2022 & 8 A
SMF—L4
| g |UsAveleio] #bIL | XxB |BFWEH
HArahte
E1E 6 A 4 B | B#SHR | ahEkR
Bl A B e X Bk =3 MC TO
9:00 40534 X  USAVeleiro| XB |&FMEAE| LU |SFNWRSHE
10:05 Bk X X B HIEKR  |USA Veleiro| & F & H| USA Veleiro
11:10 SFNEA X RIS R #ELL by USA Veleiro X[
12:15 R ER B
13:20 USA Veleiro X L |ETFNER] REER X B R
14:25 X X  BEFMEA|USA Veleiro| kLU BRI R B
2 7 A 3 B | B#SHR | B A INER
Bl A B e X Bk =3 MC TO
9:00 BRI R X BElL  [EFNESE|USA Veleiro] 3XB  |USA Veleiro
10:05 USA Veleiro X X[ EX595 B |EFWEARl  #kl
11:10 B X  BFWEA|USA Veleiro| 3B R K X
12:15 R ER B
13:20 X[ X 30354 Bl [ETEA|USA Veleiro| & TR & A
14:25 EFMMEE X USA Veleiro| 3ZBS BRI % B 3034
34 8 A 11 B | BrsmE | AN
B 8 B R *F 8 =¥ MC TO
9:00 BRI 3R X  USA Veleiro| & F M E5A| #kL X B
10:05 ZR§ X SFMWEA| HIBUK |[USA Veleiro e USA Veleiro
11:10 B X BRIRE 5% X |ETFMMEA|USA Veleiro| & TS A
12:15 R ER B
13:20 USA Veleiro X X B B HiER |[&FWNEAE| RBK
14:25 ETWHESE X BELL  |USA Veleiro| XFH B R XA

Z Y
X Ol

RE () — T BRERICEFRL |




AN

M4EE LABRU121)—

T
X4 #h[X )= it X ik #h[X
4 31 zF gN—7 I &b
Bl e B HA 2022 F 6 ~ 2022 & 7
SMF—L4
27 | z#Em | ®meg | Em | wEA |
HAEDHE
E1H 6 A 18 BItEIS R | BRNFH
Bl A B e X Bk =3 MC TO
9:00 £R X g=)- [E3% et 2= L] 5354 e B2 F
10:10 i) 5574 = 1% 2R BAHE e 2= F 7Y\
11:20 \WeH 2= R 28 i) 594 ERbY AR ER}3
12:30 R ER B
13:30 BHE i) 9514 e 22 F 2R [E3% 2R
14:40 CR 3 e 2= g=)- i) 954 28 i) 954
528 7 A 3 Bt I5T | BRI
Bl A B e X Bk =¥ MC TO
9:00 2R i) 594 e 22 F 7Y [E¥% AR
10:10 ‘A& [E 3% 2R i) 9514 e 2= F i) 354
11:20 i) 5954 e 2= R AR ERSS 2R ERSS
12:30 R ER B
13:30 B3k 2A L] 5354 e B2 AR W 2=
14:40 e 2= FH g=)- [E3% 2R i 5354 2R
E3H 7 A 16 B | s | BRINER
B 8 B R *F 8 =¥ MC TO
9:00 £R AR e 22 F 75 U5 3 [E3% i) s 354
10:10 ER WA 2= =h AR s 5354 Al
11:20 i) 594 2R ERSS et 2= R ‘Al e B F
12:30 R ER B
13:30 Al [E3% i) 594 28 e 22 F £78
14:40 e 2= i) 5954 Al [E3% £x7 ER DS

FE () —EBERICEERL) |




SF4EE LAORU12Y)—

78 X

X4 #h[X =5 it X ik #h X
4 531 TF -7 I £Ra
Bl e B HA 2022 F 6 B ~ 2022 & 7 A
SMF—L4
| ®miF [mmoL 0] #mm | #E |
HArahte
E1H 6 A 5 B | B#SHR | REEF N
Bl A B e X Bk =3 MC TO
10:00 REET)I x  EEILAT| IEE F AR FEAfR BR
11:10 BR X M | BB |"HILAT|E=BILAT| )G
12:20 R ER BF
13:20 BEHILAT X BER FEAfR | REEFIIS | REER)IIh | FKEAMR
14:30 F A X REE)Igh [REBILAT| HBE R |[REHILAD
28 6 H 26 B/ s | e
A 45 B ] xtEf =¥ MC TO
10:00 BR X BEBF)Ih |RETLAT| FiEAM FEfm | mEBILAD
11:10 REHILA4T % F A BR REEF)IR | REEF)IIH BR
12:20 R BB BF
13:20 REEF IR X  HEILAT| TG BER BR FHAfR
14:30 FBAfR X BR BEFF)Ith |EEILAT|EBILAT| BEE)IIh
3 7 A 24 B | BiESAT | REET NP
B 45 B ] xtEf = MC TO
10:00 BEILAT X R REFF)Ich | FKEAfR FEAfE | REEF)IA
11:10 REET)I A X FEAMM |mWMILAT| BE R |[REHILAD
12:20 R ER BF
13:20 BR X BEFF)Ih | FEAME |mEILAT|mEBILAT| FEAMG
14:30 FHEA MR X  HEEILAT| R REEF)IG | REEFI G BR

Z=3
X L

R () —BRERICEFLL) |




SFAEE LOBUI2)—5 8 xti3k

X5 #h[X )= it X ik #h[X
4 31 zF gN—7 I &b
Bl e B HA 2022 F 6 B ~ 2022 & 7
EMF—L%
| ot | = | am | trm |
HAEDHE
E1E 6 A 4 B | B#SHR | STiINERE
Bl A B e X Bk =3 MC TO
09:00 Nk X 28 EFH PR L EFH
10:35 LFH X Ll Nk =28 28 Nk
11:40 R ER BF
13:00 2H X EFH IR Nk Nk iLiE
14:05 PR X Nk 28 E=FH EFH 28
28 7 A 2 B | BrsmEr | T
Bl 1A B A *T Bk =1 MC TO
09:00 LEFE X Nk 28 PR PR 28
10:35 &; X L EFH Nk Nk EFH
11:40 R BB BF
13:00 nkE x BiE LiE LFE LtFE Lid
14:05 LA X LB nE BiH Z; Nk
%3 7 A 16 B | BresEn | Il E N
Bl A B fE *T Bk =¥ MC TO
09:00 28 X LFH Nk PR PR Nk
10:35 nkE X Lid 3 LFE tFE 0z
11:40 R ER BF
13:00 EFE X nk Lid 2H 0z PN
14:05 L X 2iH EFH Nk Nk EFH

ZRE ()T ERERICEELLY) |




ST4EE ILABRUI2I)—J B XtExR
X4 #h[X =5 it X ik #h[X
T4 7l XF gI—7 I &R
Bl e B HA 2022 F 6 ~ 2022 & 7
SMF—L4
| o\ | x@m | A | &t
HArahte
E1E 6 A 19 BB | 2 INERE
Bl A B e X Bk =3 MC TO
10:00 JNEE X = it AR yz=h-| &t
11:05 it X yz=h-| ] =i =i ]
12:10 R ER BF
13:15 =[] it yzh—} ] i) g
14:20 Ar ] =[] it it =i
2 7 A 10 BIEIS AT | & BN
B 8 B R *F 8 =¥ MC TO
10:00 %t X ] =[] Ag AaAg =[]
11:05 =[] X yz=h-| it N7 JI7E & it
12:10 R BB BF
13:15 ] Z [ g &t £ ith Ag
14:20 yz=h-—| e JIlAE %= [if] %= [if] Jil#E
3 7 B 3 BT | & BN
B 8 B R *T 8 =¥ MC TO
10:00 =i X it ] yz=h-) yz=h-—| ]
11:05 JI7E X Ar =[] it it =i
12:10 R ER BF
13:15 %t ] AR Z [ L[ Ag
14:20 AR =i fith Jii#E Jii# fAith

R () —BRERICEFLL) |

Z
X O




